6%@ﬁ&9¢@25?ﬂﬁ%

Rt EHP [RA]: §TR 4520 47 [U3105]

Fo G /R EMP(1): FTRARRIPE(F A RAF AR
PERREIRIEE BT )

FE AR ST R

~BEARR ’C‘HE_ o~
X » il wd v
POEETAREEFE o M HL TR G RO READ ELE RN e AR R
ﬁiﬁ‘ﬁ@£°%?ﬁi4§%%ﬁ§%,“ﬁzﬂ&go
QAL 5 -EHG » 2L FHAME 5 441> 541204 » £ 100 4 o
OF & ‘93%:3_‘\‘})—5!—3- :3_—}'_‘4‘ %’5_" Jf;hﬁ \lFé\ ’IFF fx#ﬁ*ﬁﬁiﬁﬁfh%&%ﬁiﬁi

&
foacg

EHEAE
EERPNEE o
@ s EREIFTREEL 2 FUCTHALSTFRAMLER 7
OFFLR/LHY » ARMFTHFFHENTFLFE -
% - 48
FA s Ep LR 5" (Spiral model) B 5 &2 acd (Agile) B 5 o 1 7] )~ 37 4
AERF AR B N TE 0 U - FAHEFE RN LR AL
% 2 [20 &)

BPE

iR (recursion)d — B FF sk ehdidic - [20 4 )

y-%
A
( b4 51=5%x4x3x2x1)

SR FRAL
5% A B I

%3%}
TR KR I PR L2, FIR A S B E R 425 (Apps) k£
im—@%?mAw%%ﬁﬁ%éﬁwﬁﬁﬁ°Q09]
iR
TR K FEPE S K 8 * FE 3 425" (stored procedure) 2 jf 3 4% 3¢ (trigger) ;

Bty r cng 8 2 [20 &)

$ 7
35 IPvA CLASS B % s i (K35 2 5% 0 2 4 354)

(=) IPA~# g -[54]
(Z) 7% engeplodce[54]

(Z) # B ppvidfai k- [10 4]

ﬁfﬂ

) = = (A
= Fem it

15 X
y:"—ap’:r?ﬁ\



